
No designation Qual. Euro

ENGINE
1 0400 Engine with new cylinderhead new 4873,95

0420 Engine with new cylinderhead and injection system recon 5700,00
 0430 Complete engine recon 7230,00

CYLINDER-BLOCK
1 0510 Bloc with new pistons recon 3241,00

PLUGS GASKETS
1 0701 Plug New     5,90 
2 0702 Plug New     5,90
3 0703 Plug Recon     2,90
4 0704 Plug Recon     2,80
5 0705 Plug Recon     2,90
6 0706 Plug Recon     2,90
7 0707 Plug Recon     2,30
8 0708 Pin Recon     2,90
9 0709 Plug Recon     2,90
10 0710 Gasket New     1,90
11 0711 Plate Recon     9,90
12 0712 Gasket New     4,90
13 0713 Washer New     0,70
14 0714 Screw Recon     2,90
16 0716 Pin Recon     2,80
18 0718 Gasket New   37,90
19 0719 Screw Recon   12,90
25 0725 Gasket New   18,90
26 0726 Adapter Recon   15,90
00 0700 Gasket set with cylinderhead-gasket New 148,90

CRANKSHAFT
1 0801 Crankshaft with new bearing shells recon   660,90
4 0804 Key recon       4,50
5 0805 Gear                                                            New     55,70
6 0806 Screw recon     19,90
7 0807 Washer Recon     10,90
8 0808 Pulley for 4 belts Recon   378,90
9 0809 Bearing shell,   std    0.30    0.50    0.80 New     75,90
11 0811 Side stopp New     34,90

CONNECT.ROD, PISTONS
 1 0901 Connecting rod Recon  343,60
 2 0902 Bushing New     8,00
 3 0903 Bolt New    12,00
 4 0904 Nut New      3,90
 5 0905 Bearing shell,   std   0.30   0.50   0.80 New    75,80
 6 0906 Piston New  170,00

  
 7 0907 Piston pin Recon    14,90 
 8 0908 Circlip Recon      2,90
 9 0909 Top ring New     23,70
10 0910 Compression ring New     23,70
11 0911 Scraper ring New     23,70
12 0912 Nozzle Recon   224,90
13 0913 Washer Recon      0,90
14 0914 screw Recon     34,60

FLYWHEEL
1 1001 flywheel 146 dents Recon   240,90
2 1002 Flywheel Recon   240,90
4 1004 Starterring 146 dents

Starterring   96 dents
New
New

  296,90
  296,90

5 0105 Flange 8 holes New    19,50
6 1006 Flange 6 holes Neu     12,50
7 1007 screw Neu     15,50

PLUGS, GLOWPLUGS
1 1101 Plate Recon

New
    7,90

2 1102 Screw M7 New     3,50
4 1104 Protector Recon     4,90
5 1105 Plate Recon     6,90



New    16,90
6 1106 Gasket New      4,50
7 1107 Screw M7 New      3,50
9 1109 Glow plug New    20,90
10 1110 Cable Recon

New
 15,50
 28,50

12 1112 Nut New    0,80
26 1126 Bolt Recon    8,50
28 1128 Plug New    8,80
29 1129 plug New    8,80

CYLINDER HEAD
 1 1301 Cylinderhead New 1820,00

 1 1300 Cylinderhead with valves New 2120,00
 2 1302 Screw New    
 3 1303 Screw New    
 4 1304 Screw New    
 5 1305 Washer New      2,50
 6 1306 Cylinderhead gasket New  142,00

1399 P2, 3, 4  in kit box New  105,80
 7 1307 Spring Recon      2,90
 8 1308 Spring Recon      2,90
 9 1309 Retainer Recon      3,90
10 1310 Cono Recon      3,90
11 1311 Retainer Recon      4,10
12 1312 Gasket New      2,30
13 1313 Valve guide New      9,00
14 1314 Sitzring Auslass New     14,00
15 1315 Sitzring Einlass New     14,00
16 1316 Valve exhaust New

Recon
    35,55

17 1317 Inlet valve New
Recon

    35,55

18 1318 Turbulence chamber New
recon

    39,00

ROCKER
1 1501 axle New

Recon
227,62
  80,00

3 1503 Bracket Recon   12,90
4 1504 Clamp Recon     5,50
5 1505 Washer Recon     7,50
6 1506 Screw Recon     2,50
7 1507 Bracket Recon   32,90
8 1508 Intermediate bearing Recon   45,90
9 1509 Gasket New     1,60
12 1512 Screw Recon     2,50
13 1513 Rocker New

Recon   45,80
14 1514 Spring Recon     2,90
15 1515 Spring Recon     2,90
16 1516 Washer Recon     2,50
17 1517 Screw Recon     4,50
18 1518 Nut New     3,50
19 1519 washer Recon     2,50
20 1520 Nut Recon     4,50
21 1521 Tappet New   12,90
22 1522 Rocker arm operating rod New   13,30
23 1523 Tube Recon   38,00
24 1524 Screw Recon    6,80 
25 1525 Gasket New    0,90
26 1526 Bracket Recon    4,00
27 1527 ring Recon    2,00

AUT. Fast IDLING CONTROLS
1 1601 Housing Recon   18,40
2 1602 Thermostat New   72,80
3 1603 Adjusting screw Recon     8,90
4 1604 Nut Recon     4,90
5 1605 Cable clamp Recon   14,90
6 1605 Gasket new     1,30



CAMSHAFT
1 1701 Camshaft                                                                  new 748,00 Recon

New
 375,90

4 1704 Pinion on eccentrics assy Recon   135,90
5 1705 Spacer Recon     2,90
6 1706 Eccentric bush Recon   13,90
8 1708 Screw Recon   10,90
9 1709 Timing chain New  120,90
10 1710 Chain tensoiner plate Recon     24,90
15 1715 Chain tensioner New   185,90

COVER
1 1801 Cylinderhead cover                                          new 238,00 Recon  135,80
2 1802 Cylinderhead cover Recon  135,80
3 1803 Cylinderhead cover Recon  135,80
4 1804 filling cap Recon  36,90
8 1808 Sieve Recon    3,90
9 1809 Gasket Neu    1,50
10 1810 Washer Recon    1,50
11 1811 Nut New    2,50
12 1812 Gasket Silikon New  17,50
13 1813 Gasket rubber New  15,00

TIMING GEAR COVER
1 1901 Timing gear housing Recon 230,90
2 1902 Timing gear housing Recon 230,90
3 1903 Timing gear plate assed Recon   52,90
4 1904 Gasket New   12,90
6 1906 Stud Recon     8,80
7 1907 Rotary seal New   19,90
8 1908 Screw M7 new     3,50
9 1909 Washer M7 New     0,80
10 1910 Nut M7 new     1,20
18 1918 Gasket New    24,90

OILPAN
 1 2001 Oilpan,steel,  5 liter Recon
 2 2002 Oilpan, steel, 7 liter Recon

New
155,90
354,90

 4 2004 Screw New  23,80
 5 2005 Gasket New  28,90
 6 2006 Screw M7 new    3,50
 7 2007 Washer recon    0,80
 8 2008 Nut New    1,20
 9 2009 Oilpump New 596,00 
10 2010 Screw Recon     8,90
11 2011 Nut New     2,90
13 2013 Shims Recon     1,90
14 2014 Plug Recon   17,90
15 2015 strainer Recon   23,90
16 2016 gasket new     3,90

WATERPUMP
 2 2102 Waterpump New  224,90
 4 2104 Thermostat New   54,80
 5 2105 Seal ring New     8,00
 6 2106 Housing Recon   42,90
 7 2107 Washer New     0,90
 8 2108 Screw M7 New     3,50
 9 2109 Pully                                                       new  139,00 Recon   45,00
10 2110 Gasket New     5,50
11 2111 Cotter & nut New   10,80

OLIFILTER
1 2201 Oilfilter support Recon   102,90
2 2202 Oilfilter support Recon   102,90
3 2203 Oilfilter support turbo Recon

NEW
 142,90
 212,00

4 2204 gasket New     7,00
7 2207 oilfilter    18 x 150 New    17,90
8 2208 oilfilter    20 x 150 New    18,90
10 2210 Thermistor New    35,90
11 2211 Pressure switch New    35,90



12 2212 Thermocontact New    35,90
PUMPS

 1 2301 Injection pump hub gear Recon   55,90
 2 2302 Gasket ring New     3,10
 3 2303 Bracket Recon    85,90
 4 2304 Gasket New    5,90
 5 2305 Screw New    2,90
 6 2306 Washer new    0,90
 7 2307 Washer Recon    1,80
 
10 2310 Gasket New    0,90
11 2311 Tube Recon  19,80
12 2312 screw Recon  14,90

INJECTORS – PIPES - PUMPS
 1 2401 Injector holder   BOSCH

Injector holder   ROTO DIESEL CAV
New
New

 153,00  
129,00

 2 2401 Injector New     89,90
 3 2403 Gasket New      3,90
 4 2404 Washer New      3,90
 5 2405 Plug New      6,90
 6 2406 Connecting pipe New    12,90
 7 2407 Connecting pipe New      3,90
 8 2408 Pipes Recon  180,90
 9 2409 Cramp Recon      5,90
12 2412 Injection pump BOSCH

Incektion pump ROTO DIESEL CAV
New
New

2280,00
2245,00

13 2413 Gasket kit  BOSCH pump New  175,00
14 2414 Gasket kit ROTO pump New    87,90

MANIFOLDS
 1 2501 Inlet manifold Recon  265,90
 2 2502 Screw New     1,80
 3 2503 Screw New     1,80
 4 2504 Washer New     0,80
 5 2505 Washer Recon     2,90
 6 2506 Gasket New   12,90
 7 2507 Gasket New   12,90
 8 2508 Exhaust manifold Recon  225,90
 9 2509 Nut New     0,80
10 2510 Washer New     0,80
11 2511 Washer New     1,80
12 2512 Stud New     2,90
13 2513 Nut New     1,80
14 2514 Washer New     2,90
15 2515 Gasket New   12,90
16 2516 connection new     9,90

TURBOCHARGERS
 1 2601 Turbo charger GARRET recon 880,90
 2 2602 Union New   10,00
 3 2603 Clamp New    5,90
 4 2604 Flange Recon    9,90
 5 2605 Gasket New    3,90
 6 2606 Union Recon  23,90
 7 2607 Gasket New    3,90
 8 2608 Union New    8,00
 9 2609 Collar New   2,20
10 2610 Screw New   1,60
11 2611 Washer New   0,80
12 2612 Tube Recon  35,90
13 2613 Slide Recon    3,60
14 2614 Slide Recon  11,90
15 2615 Ring New    0,90
16 2616 Gasket New   23,80
17 2617 Stud New    1,90
18 2618 Washer New    0,80
19 2619 nut New    1,30

STARTERMOTOR
1 2702 Startermotor  12 Volt, 3 bolts, 6kg, planetgear Recon 445,90

2 2802 Support standard NEW  255,00



                          Preisliste 2022 – 2023
         Peugeot - Indenor   XD3  XD3T XD3TE 
                                   
                                    
                 
                            Die Preisliste ist gültig ab  01.03.2022

                           Frühere Preislisten verlieren hiermit ihre Gültigkeit.

                            Preisangaben  sind in Euro ohne Mehrwertsteuer.

                                Indenor Retro                 Ersatzteile für Indenor Dieselmotoren

                                volkmar.puppe@outlook.com


